Potential BPSS Transaction State Alignment Problem and Proposed Alleviation

The Responding Activity case is presented first because it can be more harmful. The solution proposed is still not an absolute solution as described below but it should reduce the potential uncertainty significantly.

The Responding Activity Case:

Scenario 1: Message delivery problem
 the presents from the Requester to the Responder.
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the requester

 

Receipt Acknowledgement or 

other exception signal from 

the requester does not reach 

the responder.

 

How does the responder 

know that the signal does not 

reach the requester?

 

The responder waits until the rec

eipt 

acknowledgement timeout has been reached. 

Retries could happen but this is not allowed in the 

BPSS (Why?), so the responder fails the 

transaction right away. 

 

The requester does not know whether the 

signal has reached the responder, so it 

continue se

nding acceptance signal and 

ends the transaction with success. This is 

a misalignment of the state between 

partners.

 

The proposal here is that the responder sends a 

cancel transaction signal before it fails the 

transaction and before the time to perform 

of 

the transaction has been reached.

 

* Note that this is not an absolute solution 

because if the communication failure occurs to 

this last cancel signal, the problem persists. 

However, this may be less likely to happen b/c 

in this scenario the message deli

very problem 

only presents from the requester to the 

responder.

 

* This may also necessitate that the requester 

does not make a state transition before reaching 

the time to perform.

 


Scenario 2: Message delivery problem presents from the Responder to the Requester.
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Response does not 

reach the requester.

 

The responder waits for the receipt 

acknowledgement from the requester until timeout 

has been reached. Retries could happen but this is 

not allowed in the BPSS (Why?), so the responder 

fails the transaction r

ight away. 

 

The requester never receives the 

response anyway, so he wait until the 

time to perform has been reached and fail 

the transaction.

 


In this case, transaction status is clear to both sides. There is actually no need for the responder to send a cancel signal. Although it wouldn’t hurt if the responder sends one b/f it fails the transaction.

Scenario 3: Message delivery problem presents from both sides.

This is the same as the second case.

The Requesting Activity Case:

Scenario 1: Message delivery problem occurs from the responder to the requester
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How does the responder 

know that the signal does not 

reach the requester?

 

The requester waits until the receipt 

a

cknowledgement timeout has been 

reached, and resends the request. This 

happens until the retry count has been 

reached. 

 

Suppose the signal never reaches the 

requester anyway. At the end, the 

responder does not know if the last signal   

that it has sent re

aches the requester or 

not. This leaves the responder in 

uncertain state.

 

The requester, has not received any 

receipt signal anyway, can gracefully fail 

the transaction.

 

The proposal here is that the 

requester sends a cancel 

transaction signal before it 

fails the transaction. 

Similarly, if delivery of the 

cancel signal from the 

requester fails, the problem 

persists.

 


Actually, the problem is less harmful in the requesting activity because if the responder continues the transaction (with acceptance acknowledgement and response document), and the responder does not see any reply from the requester (because it has already failed the transaction) so the responder fails the transaction anyway. 

Scenario 2: Message delivery problem occurs from the requester side. This is similar to the Scenario 2 of the responding activity.

Scenario 3: Message delivery problem occurs on both sides. This is also similar to the Scenario 2 above.

Conclusion: 
A conclusion can be drawn that the state alignment is more robust if the responder and the requester send a failure signal to the counterpart before failing the transaction in the responding and requesting activity, respectively.

This cancel signal should also be used in the case of fail acceptance acknowledgement as well.

I think that the signal timeout value should be relative to the time stamp of the document (request and response document); otherwise, the timeout point in the retry cannot be figured; unless the clock is reset for every retry. 

� All delivery problem discussed here means that the message may or may not reach the MSH, but it does not reach the BSI.
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Response does not reach the requester.















The responder waits for the receipt acknowledgement from the requester until timeout has been reached. Retries could happen but this is not allowed in the BPSS (Why?), so the responder fails the transaction right away. 







The requester never receives the response anyway, so he wait until the time to perform has been reached and fail the transaction.
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Receipt Acknowledgement or exception signal from the responder does not reach the Requester







How does the responder know that the signal does not reach the requester?







The requester waits until the receipt acknowledgement timeout has been reached, and resends the request. This happens until the retry count has been reached. 







Suppose the signal never reaches the requester anyway. At the end, the responder does not know if the last signal   that it has sent reaches the requester or not. This leaves the responder in uncertain state.







The requester, has not received any receipt signal anyway, can gracefully fail the transaction.







The proposal here is that the requester sends a cancel transaction signal before it fails the transaction. Similarly, if delivery of the cancel signal from the requester fails, the problem persists.
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Response has reaches the requester







Receipt Acknowledgement or other exception signal from the requester does not reach the responder.







How does the responder know that the signal does not reach the requester?







The responder waits until the receipt acknowledgement timeout has been reached. Retries could happen but this is not allowed in the BPSS (Why?), so the responder fails the transaction right away. 







The requester does not know whether the signal has reached the responder, so it continue sending acceptance signal and ends the transaction with success. This is a misalignment of the state between partners.











The proposal here is that the responder sends a cancel transaction signal before it fails the transaction and before the time to perform of the transaction has been reached.



* Note that this is not an absolute solution because if the communication failure occurs to this last cancel signal, the problem persists. However, this may be less likely to happen b/c in this scenario the message delivery problem only presents from the requester to the responder.



* This may also necessitate that the requester does not make a state transition before reaching the time to perform.












